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YEIS 279,689 151,641 128,048
HEIS FOMNUIASE 23 99,024 99,305 281
YRS FUMBIH 99,024 99,305 281
YEIS FOHOHT 51,820 51,820 0
301 LB A 51,820 51,820 0
05 S-2 BEESEAS 50,820 50,820 0
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OSHA0Z 200, 000! *1421%25| 5,600
OSHBIABAEG 20,0002 140125« 128 6,720
otz S| 50,0002 982! 4,900
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YEIS FASY2E 9,868 1,149 A1,281
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OZZRILMA 7,589,00021 %14} 7,569
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ON&EEISN Y] 1,000,008 14! 1,000
YRS BIXL 31,336 30,336 1,000
201 L2y 9,736 8,736 1,000
01 ALR et 3,976 2,976 1,000
ogstsgH| 2,976,002 14! 2,976
OxgATE 1,000,000 14! 1,000
2 ZZ2YH) 5,760 5,760 0
SHR3 480,0002! *122 5,760
202 048] 21,600 21,600 0
01 2Uhoitl 21,600 21,600 0
OJI=Y L4801 (102) 1,800,000 122 21,600
ALY 6,000 6,000 0
405 &t SH 6,000 6,000 0
01 RAUSEHSH| 6,000 6,000 0
Oer el 6,000,0002 14! 6,000
HEIS A 122,994 2,065 120,929
YIS AR FOUSAAY 122,994 2,065 120,929
YEIS FUSAAY 120,864 0 120,864
401 AIEHIL2CH] 120,864 0 20,864
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101 el ] 2,130 2,065 65
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101 14| 22,371 22,371
01 = 22,371 22,371
OANZ2e 2R+ 7,457 3 %1021 x300A1 2+ 22,371
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01 J|22IHFF=&HI 6,600 6,000
OJI 22 HRF48| 6,600,000& *1¢! 6,600
02 FRANMAHSFAHI 400 400
O DT Y| 40,0002 *10! 400
04 BEASIHFFEHI 3,000 3,000
ORN2IHRFAHI 250,000& «12& 3,000
dE1s JI=&Hl 25,300 18,500
&S JI23Hl 25,300 18,500
201 LetEHH| 10,800 10,800
01 AFR22lH| 10,800 10,800
ORNM2E+=EH| 9,120,000& 1A 9,120
O=&l 7,000 x10Q1 23| x 12& 1,680
202 O4Hl 2,000 2,000
01 =AYl 2,000 2,000
O&2 o bl 2,000,000& 14 2,000
405 AHeHESHI 12,500 5,700
01 XL S SFSHI 12,500 5,700
OPC 1,300,000 +5CH 6,500
O A 6,000,000 = 1CH 6,000




